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1. Below is given the Trial Balance of Kar, Dhar Co. as on
31st March, 2008. The partners share profits and losses

as to Kar 80% and Dhar 20%.

Rs. Rs.
Opening Stock | 40,00QSales 4,12,850
Freehold Factofy 80,00QReturns 700
Purchases 1,95,000Discount 1,250
Plant 90,00QSundry Creditorg 25,000
Furniture 45,00QCapital :
Sundry Debtors| 60,00Q Kar 50,000
Carriage In 1,50QDhar 20,000 70,000
P.T.O.
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Rs. Rs.
Carriage Out 2,300 Reserve Fund 70,000
Returns 1,200
Discount 760
Salaries 16,000
Wages 20,000
Advertisement 3,500
Repairs 740
Bad Debts 2,300
Insurance 1,500
Cash at Bank 20,000

5,79,800 5,79,800

The following additional information is supplied :
(a) Closing Stock amounts to Rs. 55,000 ;
(b) Depreciate Plant at 6% and Furniture at 10%.

(c) Outstanding liabilities to be provided for : Salary
Rs. 3,000 and Wages Rs. 4,000 ;

(d) Insurance premium paid in advance amounted to
Rs. 500 ;

(e) Bad Debts Reserve to be raised %)‘%i on Sundry

Debtors; and

(f) 10% of the divisible profit is to be carried to the
Reserve Fund.
You are required to prepare the Trading and Profit
& Loss Account for the year ended 31st March,
2008 and a Balance Sheet as at that date.xo
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2. A, B and C were partners in a firm. They share profits

and losses in the ratio of 3 ;: 2 : 1. Their balance sheet
as at 31st December, 2007, was as follows :

Liabilities Rs. Assets Rs.
Capitals Accounts : Buildings 50,000
A 36,000 Plant & Machinery 25,000
B 24,000 Furniture 10,000
C 12,000 72,000 | Stock 5,000
Reserve 6,000 | Sundry Debtors 5000
Sundry Creditors 22,000 | Less : Provision _400 4,600
Bills Payable 5,500 | Cash 10,900
1,05,500 1,05,500

On 31st December, 2007, A retired.
The terms of retirement provided the following :

(a) Goodwill of the firm is to be valued at Rs. 12,000,
but no goodwill account is to be raised in the
books.

(b) The value of furniture and plant and machinery are
to be depreciated by 20% and 10% respectively.

(c) Provision for doubtful debt is to be maintained at
Rs. 300.

(d) The value of stock and building are to be
appreciated by 10% and 20% respectively.

(e) The amount due to A is to be transferred to a
separate loan account.

Show the revaluation account and partners’ capital
accounts incorporating the above changes. R0

P.T.O.
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. From the following trial balance containing obvious

errors, prepare a correct Trial Balance stating reasons :

Dr. Cr.
Rs. Rs.
Cost of goods sold 1,50,000
Closing stock 40,000
Debtors 60,000
Creditors 30,000
Fixed Assets 50,000
Opening Stock 60,000
Expenses 20,000
Sales 2,00,000
Capital 90,000
3,50,000[ 3,50,000

53

. Gourhari Khera does not keep a double entry set of books.

On 1st January, 2007, he had the following assets and
liabilities : Stock — Rs. 20,000 ; Sundry Debtors — Rs. 30,000 ;
Furniture — Rs. 5,000 ; Cash at Bank — Rs. 12,000 ; Sundry
Creditors — Rs. 20,000.

On 31st December, 2007, his position was as follows :
Stock — Rs. 25,000 ; Sundry Debtors — Rs. 45,000 ; Sundry
Creditors — Rs. 32,000 ; Cash at Bank — Rs. 18,000 ; Furni-
ture — Rs. 7,000.

During the year he introduced fresh capital Rs. 3,000
while he withdrew Rs. 8,000 for household expenses.

You are required to ascertain his profit during the year
after making the following adjustments : (i) Furniture to be
depreciated by 5% and (ii) a Reserve for Bad Debts is to be
raised at 2¥2% of Sundry Debtors. 5%
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. Alfa Company issued 10,000 Equity Shares of Rs. 10 each,

payable Rs. 2-50 on application, Rs. 2-50 on allotment,
Rs. 2 on First Call and Rs. 3 on Final Call. All shares were
duly subscribed and money in respect of allotment and calls
were duly received except Final call on 500 shares.

These shares were forfeited and subsequently 400 shares

reissued at Rs. 8 each as fully paid up.
Give journal entries to record the above transactiar
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> The following is the Trial Balance of Bony Ltd. as on

31st March, 2008.

Rs. Rs.
Stock on 1.4.2007 | 75,000 |Purchase return 10,000
Purchases 2,45,000 |Sales 3,40,000
Wages 30,000 |Discount 3,000
Carriage 950 [Profit & Loss Account| 15,000
Furniture 17,000 [Share Capital 1,00,000
Salaries 7,500 |Creditors 17,500
Rent 4,000 |General Reserve 15,500
Sundry trade exp. 7,050 |Bills Payable 7,000
Dividend paid 9,000
Debtors 27,500
Plant & Machinery| 29,000
Cash at Bank 46,200
Patents 4,800
Bills Receivable 5,000
5,08,000 5,08,000

W-60 P.T.O.
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Prepare the Profit and Loss Account for the year ended
31st March, 2008 and a Balance Sheet as on that date
after considering the following adjustment :

Stock as on 31st March, 2008 Rs. 88,000.

(i) Provide for income tax at 50%.

Depreciate Plant and Machinery at 15% ; Furniture at
10% and Patents at 5%.

(iv) On 31st March, 2008 outstanding rent amounted to

Rs. 800 and salaries Rs. 900.

The Board recommends payments of a dividend @ 15%
per annum. Transfer the minimum required amount to
general reserve.

Provide Rs. 510 for doubtful debts.

(vii) Provide for managerial remuneration at 10% of profit

before tax.

Kuntal & Co. is a manufacturing firm using a patented
process under licence from Supriyo. The licence, which
was granted as from 1st January, 2004 provided for a
royalty to be payable by Kuntal & Co. to Supriyo of 50
paisa per article manufactured subject to minimum
annual payment. The minimum was fixed at Rs. 4,000
for 2004, increasing by Rs. 2,000 a year till Rs. 20,000
per annum should be reached. Any amount by which
the royalty calculated on the basis of articles
menufactured might fall short of the minimum payment
(described as shortworking) in any year was allowed to
be carried forward and set off against royalties in excess
of the minimum during the following two years but no
longer.

The number of articles manufactured in the first five
years was follows : 4,000 in 2004 ; 8,500 in 2005 ;
18,500 in 2006 ; 22,000 in 2007 and 31,500 in 2008.
You are required to set out the Royalty Account,
Shortworking  Account and  Supriyo’s Personal
Account in the books of Kuntal & Co.
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9| The Balance Sheet of Moti Ltd. as on 31st December, Liabilities Rs. Assets Rs.

2007 is given below : 15,000 Equity Shares
— of Rs. 7-50 each

Liabilities Rs. Assets Rs. fully paid 1,12,500

9% Preference Share Sundry assets 9,50,000 10,000 Equity Shares

of Rs. 100 each, Investments 2,75,000 of Rs. 5 each,

fully paid up 6,50,000 | Cash at bank 67,500 fully paid up 50,000

Equity Shares of General Reserve 97,500

Rs. 5 each fully Sundry Creditors 50,000

paid up 2,25,000 —

General Reserve 1,00,000 560,000 5.60,000

Profit and Loss A/c. [ 2,60,000 The average profits for the last three years (before

Sundry Creditors 57,500

transfer for tax or reserve) amounted to Rs. 1,50,000.
12,92,500 12,92,500 Income tax and Transfer Reserve may be assumed at

The Preference shares are to redeemed on January, 2008 40% and 10% respectively. Fair return is 10%. Find out
at a premium of 7%2%. the break-up value and yield value of each kind of share.
In order to facilitate redemption the company has So+dvo
decided :

@| (a) State the Provisions related maintenance of books of

(i) To sell the investment for Rs. 2,60,000. accounts and presentation of financial accounts of a

(i) To finance part of the redemption from company’s funds;

and company.
(iii) To issue sufficient equity shares at a premium of Re. 1 (b) VYh_at are tr,],e major hea(_jmgs under which "Assets’
per share to raise the balance of funds required. and “Liabilities” are shown in the Balance Sheet of a
(iv) Minimum bank balance to be retained at Rs. 10,500. company. sots0
The investment were sold, the equity shares were fully el — 2
subscribed and the shares were duly redeemed.
You are required to set up : @-cieen foifb 2 Tew fre 2 SIX0=0Y
(a) Necessary Journal Entries to record the above Y| MMC Ltd. bought and sold 6% stock as follows, interest
transactions (including cash) and being payable on March 31 and September 30, each
(b) The Balance Sheet as on redemption. year.
8| The Balance Sheet of Tata Ltd. contained the following 2008
balances on 31.12.2008 - March 1 : Bought Rs. 24,000 @ RS0 %
Tabililies s Y- - June 15 : Sold Rs. 10,000 @ R82:% cum-interest
25,000 Equity Shares Fixed assets 4,00,000 August 1 : Bought Rs. 6,000 @ RS13%
of Rs. 10 each, Current assets 1,55,000 Sep. 1 : Sold Rs. 4,000 @ R93i%
fully paid 2,50,000 | Preliminery Expenses 5,000 Dec. 1 : Bought Rs. 12,000 @ R84 % cum-interest

Prepare Investment Account for the year ended

P.T.O. 31.12.2008 assuming brokage ¥ in each case.
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On 1.1.2008 H. Ltd. purchased 24,000 Equity Shares
in S. Ltd. On that date S. Ltd. had Rs. 2,500 in General
Reserve and Rs. 37,500 (Dr.) in Profit and Loss Account.
From their Balance Sheets on 31.12.2008 as below :

Balance Sheet as on 31.12.2008

H. Ltd. S. Ltd. H. Ltd. S. Ltd.
Rs. Rs. Rs. Rs.

Equity Share Fixed Assets |6,85,000 | 1,60,000
Capital (Share of Current Assets |1,05,000 | 1,71,500
Rs. 10 each) 7,50,000 | 3,00,000 [Investments in
General Reserve 90,000 7,500 |S. Ltd. 2,00,000 —
Profit & Loss Alc 60,000 — |Profit & Loss Alc — 7,500
Sundry Creditors 90,000 31,500

9,90,000 | 3,39,000 9,90,000 | 3,39,000

Fixed assets standing in the books of S. Ltd. at Rs. 90,000

was considered worth Rs. 75,000 on the date of

b |

acquisition of shares for the purpose of determining the
value of shares, 20% depreciation has been written off
since acquisition. Stock of H. Ltd. includes Rs. 30,000
on which S. Ltd. made Rs. 7,500 profit.

You are required to calculate cost of control/goodwill
and minority interest.

Raju Ltd. issued 20,000 Equity Shares of Rs. 10 each at
a premium of Rs. 2 per share payable as follows : On
application Rs. 5 ; On allotment Rs. 5 (including
premium) ; On call Rs. 2.

Application were received on 24,000 shares letters of

regret were issued to application for 4,000 shares and
shares were allotted to all other applicants. Mr. A, the

holder of 150 shares, failed to pay allotment money.

On his subsequent failure to pay the call money the

shares were forefeited. Show the Journal and Cash Book
entries in the books of Raju Ltd.

P.T.O.
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M. Chowdhury purchased a machinery from K & Co.
on hire purchase system on 1.1.2006. The cost price of
the machine was Rs. 1,00,000, Rs. 20,000 to be paid at
the time of taking delivery and balance by four annual
instalments of Rs. 20,000 plus interest @ 5% p.a. on the
yearly balances.

M. Chowdhury failed to pay the instalment due
31.12.2007. K & Co. took possession of machinery and
valued the same in his books after charging depreciation
@ 10% p.a. on Reducing Balance Method. In 2008 K
& Co. incurred Rs. 1,000 for reconditioning and re-sold
the machinery for Rs. 90,000.

Show the ledger accounts in the books of K & Co.

S. D and B are partners in a firm, sharing profits and
losses in the ratio of 3 : 2 : 1 respectively. The Balance
Sheet of the firm as on 31st December, 2008 is as given

below :

Liabilities Amount Assets Amount
Rs. Rs.
Sundry Creditors 30,000 | Plant & Machinery 60,000
Capital Accounts : Debtors 50,000
S 60,000 Bills Receivable 8,000
D 40,000 Stock 25,000
B 20,000 1,20,000 | Cash at Bank 5,000
Cash in hand 2,000
1,50,000 1,50,000

The partners agree to sell the business to a limited
company which was incorporated with 65,000 shares
of Rs. 10 each. The purchasing company agrees to take
own the assets and liabilities and discharge the purchase
consideration by the issue of 8,250 shares of Rs. 10
each and earn Rs. 56,000. The cost of dissolution
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Rs. 2,500 is paid by the firm and balance amount of
cash is distributed among the partners.

You are asked to prepare Journal Entries in the books
of the firm.

51 (a) Explain the salient features of double account

SR

(i)
(ii)

59|

- BIED 20T Teq e ¢

system.
(b) State how does Double Account System differ
from Single Account System. Y+Y
et — o

LX8=I8

On 12th June, 2008, a fire occured in the premises of
D. N. Roy. Most of the stocks were destroyed, cost of
salvaged being Rs. 11,200. In addition, some stock was
salvaged in a damaged condition and its value in that
condition was agreed at Rs. 10,400. From the books of
account, the following particulars were available :

His stock at the close of account on December 31, 2007
was valued at Rs. 83,500.

His purchases from 1.1.2008 to 12.6.2008 amounted to
Rs. 1,12,000 and his sales during that period amounted
to Rs. 1,54,000.

On the basis of his account for the past three years, it
appears that the earns on an average a gross profit 25%
on sales. Mr. Roy has insured his stock for Rs. 60,000.
Compute the amount of the claim.

A, B and C are partners in a firm. B retires and his claim
including his capital and his share of goodwill is

Rs. 60,000. There was some unrecorded furniture
estimated at Rs. 3,000, half of which was handed over
to an unrecorded liability of Rs. 6,000 in settlement of

P.T.O.
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claim of Rs. 3,000 and remaining half was handed over
to B at a discount of 10% in part satisfaction of his claim.
B’s balance of claim was discharged in cash. Give the
journal entries to record this arrangement.

On 31.12.2008 goods sold at sales price of Rs. 3,000
were lying with customer. Mr. X to whom they were
sold on “Sale or Return” basis and recorded as actual
sales. Since no consent has been received from the
customer.

You are required to pass adjustment entries presuming

goods were sent on approval at a profit of cost plus 20%.
Present market price is 10% less than the cost price.

Roy and Sons had a branch at Puri. You are required to
write up the Puri Branch Account in the books of Head
Office from the following particulars :

Rs.
Stock on 1.1.2008 10,000
Goods sent to Branch 50,000
Expenses of Branch 3,000
Petty expenses of Branch 1,000
Goods sold by Branch 1,00,000
Stock on December 31, 2008 12,000

State briefly the disclosure requirements of AS-2.

What do you mean by Reduction of Share Capital ?
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Following figures are extracted from the record of a
company for the year ended 2006-07

P

Rs. Rs.
Direct Materials 60,000 | Selling Overhead 22,400
Direct Wages 50,000 | Distribution Overhead | 14,000
Works Overhead 30,000 | Profit 52,500
Administrative
Overhead 33,600

One material had been manufactured and supplied to
Mr. S. Saha in 2007-08 for which the following expenses
were incurred :

Direct Materials Rs. 4,000 ; Direct Wages Rs. 2,000.

In 2007-08, work overhead was increased by 20%,
distribution overhead has been decreased by 10% and
selling and administration overhead each were increased
by 12-5%.

P.T.O.
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At what price the above supply is to be billed to Mr. S.
Saha so as to earn the same rate of profit on selling price
as earned in 2006-07.

Online Ltd. produces a single product which undergoes
three. The following details relate to one period :

PROCESS | I 111
Rs. Rs. Rs.
Raw Materials (60,000 units) 80,000 — —
Other material introduced 23,500 | 18,750 | 22,100
Direct Wages 15,600 | 12,000 | 13,400
Overheads allocated to Process 3,800 4,600 3,200
Output in Units 55,200 (53,800 | 49,600

A normal loss of 5% of the input to each process is
anticipated. Lost units have the following scrap values :

After Process | Nil
After Process Il Re. 1
After Process Il Rs. 1-80

There was no Opening or Closing W.I.P.
Prepare Ledger Accounts for the period.

Calculate Machine Hour Rate for recovery of overheads
for a group of 4 machines from the following data :
Original Cost of the 4 machines Rs. 76,800 ; Depreciation
at 10% per annum ; Straight Line method.

Maintenance Cost average Rs. 8/- per day of 8 hours for
the group of machines.

Power 25 paise per running hour (per machine).
Supervision for the machine group Rs. 640 per month.
Allocation of building depreciation for the 4 machines
on a floor area basis ; Rs. 80 per month.

Share of manufacturing overheads Rs. 240 per month,
for the group.

Normal working days in the year, 300
Normal idle time, 20%
Normal running, 1 shift of 8 hours.
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81 X owns two houses, the particulars of which for the year
ended 31st March, 2007 are as follows :

House No. 1 House No. 2
Construction completed on 31.01.92 30.11.91
How used Let out 3/4" self
for residence occupied for
residence and
1/4™ let out
for residence
Municipal tax paid Rs. 2,500 Rs. 2,200
(assessed at 10% of
municipal value)
Rent received Rs. 36,000 Rs. 6,000
Insurence Premium Rs. 3,500 Rs. 2,200
Interest on Loan Rs. 3,700 Rs. 4,800
Land revenue Rs. 5,200 (due) Rs. 3,700

Compute income from House property of Mr. X for the
assessment year 2007-08 after considering the following
additional points :

(a) House No. 1 consists of two flats of equal sizes.

(b) Municipal tax of Rs. 500 in respect of House No. 1 was

in arrear.

@ | From the following particulars of income of Mr. Rao for
the previous year ended 31st March, 2007, compute his
taxable income and tax rebate for the assessment year
2007-08 :

Basic Salary Rs. 3,000 per month.

Entertainment allowance Rs. 700 per month (receving
since 1954).

Children’s education allowance Rs. 220 per month (for
2 children).

Director’s fee Rs. 3,000 per annum.

House rent allowance Rs. 1,500 per month (actual rent

P.T.O.
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paid by him being Rs. 2,000 per month).
Mr. Rao contributed 12% to recognised provident fund
and his employer’s contribution was of equal amount.
Interest credited to the said fund @ 13% was Rs. 7,800.
A car (800CC) with driver was provided at employer’s
cost for the whole time use of Mr. Rao.
He received Rs. 1,500 as agricultural income from a land
at Nepal. He paid premium of Rs. 12,000 on his life
policy of Rs. 1,00,000 and paid Rs. 1,000 as premium
on his married daughter’s policy for Rs. 20,000. He
deposited Rs. 1,000 in public provident fund account.
Interest on fixed deposits in the name of his two minor
children was Rs. 8,000 for the year. He received Rs. 7,760
as dividend from an Indian company.

Y| Sri Haren Roy is the owner of a small scale industry. The
following are the particulars of his business and other
related matters during the accounting year 2006-07.

(a) Net profit as per Profit and Loss Account Rs. 36,000.
(b) The Profit & Loss Alc was debited for Rs. 1,200 as his
interest on Capital and for Rs. 2,400 as his remuneration.

(c) Sri Roy has taken for his personal consumption valued
Rs. 8,000. On this account sales account was credited
for Rs. 6,000 only.

(d) Opening and Closing stock of finished goods are valued
for Rs. 4,500 and Rs. 7,200 respectively which were 10%
below the cost of production.

(e) Profit and Loss Account is debited for Rs. 1,500 as rent
of godown owned by Sri Roy.

(f) Profit and Loss Account has been credited for Rs. 2,500
as interest on fixed deposit with bank and Rs. 5,000
(gross) as dividend from Indian company.

(9) Profit and Loss Account is excess debited by Rs. 2,500
on account of depreciation.
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(h) Profit and Loss Account is debited for Rs. 4,000 as

donation to National Defence Fund.

From the above particulars compute taxable income of
Sri Roy for the assessment year 2007-08.

1| The following are the particulars of income Mr. X for the

previous year 2007-08 : Rs.
(a) Rent from a property in Kanpur, received

in Germany 80,000
(b) Income from a business in U.S.A. controlled

from Delhi 1,20,000

(c) Rent from a house in U.K. received there

but subsequently remitted to India 60,000
(d) Income from a business in Kolkata controled

from U.S.A. 1,80,000
(e) Interest from deposits with an Indian company

received in U.S.A. 20,000
(f) Profits for the year 2004-05 of a business in
U.S.A. remitted to India during the previous
year 2006-07 75,000
(g) Gift received from his parents at Kanpur 45,000
Compute his income for the assessment year 2007-08 if

he is :
(i) Resident and ordinarily resident in India, (i) Resident

but not ordinarily resident in India and (iii) Non-resident
in India.

et -
@- @l foafo 2w Tex e ¢

At the beginning of October, the Bombay Company had
10,000 kgs. of tin at Rs. 2-00 per kg. Further purchases

SIXOZOY
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were made during the month as follows :

4th October 2,000 kgs @ Rs. 2-50 per kg.
10th October 5,000 kgs @ Rs. 3-00 per kg.
20th October 10,000 kgs @ Rs. 3-50 per kg.
The issues to manufacture were as follows :
12th October 16,000 kgs.

28th October 10,000 kgs.

What would be the value of the closing stock at the end
of the month if the materials were issued according to :

(a) First-in-First-out Method.

(b) Weighted Average Method.

(c) Last-in-First-out Method.

A worker takes 80 hours to do a job for which time
allowed is 100 hours. His daily rate is Rs. 6-:00 per hour.
Calculate the works cost of the job under the following
methods of payment of wages :

(i) Time Rate, (ii) Piece Rate, (iii) Halsey Plan and
(iv) Rowan Plan.

Additional information:

(a) Material cost Rs. 800.

(b) Factory Overhead 125% of wages.

In a factory there are two service departments P and Q

and three production departments A, B and C. In
November, 2008, the department expenses were :

Production Department Rs.  Service Department Rs.
A 6,50,000 P 1,20,000
B 6,00,000 Q 1,00,000
C 5,00,000

The service departments expenses are allocated on a
percentage basis as follows :
A B C P Q
P 30% 40% 15% — 15%
Q 40% 30% 25% 5% @ —
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Prepare statements showing distribution of Service
Departments cost to the Production Departments under
(i) Repeated Distribution Method or (ii) Simultaneous
Equations Method.

The following data are available in respect of a contract
for the year ended on 31st March, 2007 from the books
of a contractor : Rs.

ECO-V ®

(iv)
(V)

59|

He earned bank interest of Rs. 58,250.

He paid life insurance premium of Rs. 30,000 on his own
life (Policy value Rs. 5,00,000) and deposited Rs. 40,000
in NSC.

Compute his tax liability for the assessment year
2007-08.

From the following particulars compute depreciation

allowance for the previous year 2006-07 :

Material issued 60,000

Stores purchased 10,000 W.D.V of the block of plant and machinery on April 1,
Wages paid 45,000 2006. Rs. 1,20,000
Engineer’'s Fees paid 8,000 (Consisting of machineries A and B—

Direct other expenses 12,000 Depreciation rate 15%)

Overhead Charges 18,000 Cost of machinery C (depreciation

Supervisor's Salary 24,000 rate 15%) acquired and put to use

Hire Charges of Plants 15,000 on November 2, 2006 Rs. 70,000

The amount of contract price was Rs. 15,00,000 ; Value
of work certified Rs. 2,10,000 ; Cash received from

Contractee Rs. 1,89,000 ; Cost of works uncertified
Rs. 12,000.

Draw up to Contract Account. Ascertain also the portion
of profit to be taken to Profit and Loss Account and the
value of Wrok-in-Progress.

Mr. R. Kar aged 68 years, is a civil contractor. He furnished
the following particulars for the year ended 31st March,

2007.

His taxable
Rs. 2,52,000.

income from business (computed)

(i) He sold his residential house on December 12, 2006 for

381

(i)

(ii)

Sale proceeds of machinery A during the year
(i) Rs. 50,000, (ii) Rs. 1,30,000 and (iii) Rs. 2,00,000.

Mr. X, a private sector employee, retired on February
28, 2007 after 22 years and 5 months of service. He
received leave salary @ Rs. 7,500 per month for 30
months’ leave showing credit at the time of his retirement.
Other relevant information are as follows :

Basic Salary at the time of retirement
(increment of Rs. 500 per month fels
due on 1st January each year)

Dearness allowance (according to the
term C of employment) 50% of basic salary

Rs. 7,500 p.m.

Rs. 12,30,000 (purchased on September 5, 2002 for (i) Medical allowance Rs. 250 p.m.

Rs. 3,20,000). (iv) Bonus 2months’
(iii) He sold equty shares of a company (in Bombay Stock average basic

Exchange) on August 12, 2006 for Rs. 50,000 (Purchased salary.

on October 5, 2005 for Rs. 1,22,000).
P.T.O.
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(v) Leave entitlement for every year of

(vi)

3¢

)

service as per service rules 1% months
Leave availed of during the tenure

of service. 6 months
Calculate the taxable amount of Leave Salary received
by Mr. X.

From the following information compute gross annual

value of the follwing let out properties for the assessment
year 2007-08.

House No.
I I n \%
Rs. Rs. Rs. Rs.
Municipal Value 72,000 60,000 86,400 | 78,000
Fair rent 69,600 63,000 90,000 | 74,400
Standard rent 70,800 64,800 91,920 N.A.
Annual rent 78,000 65,400 93,600 | 87,000
Vacancy period
(in month) 1 2 3 1
fetet - ot
@-CICN Bl Aved Tex e ¢ LX8=38

The normal working hours per week are fixed at 44 hours
in a factory. An analysis of the time card of a worker
shows that during a week he actually worked 43 hours
(including 4 hours overtime) on production and remained
idle for the remaining 5 hours due to machine break-
down.

Normal rate per hour is Rs. 5. Overtime rate is 150% of
the normal and the rate of wages for idle time is 80% of
the normal.

Calculate total wages payable to the worker.

P.T.O.
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Calculate maximum level, minimum level and reordering
level from the following data :

Reordering evantity
Reordering period
Maximum Consumption
Minimum Consumption
Normal Consumption

1,200 units

4 to weeks

300 units per week
200 units per week
250 units per week

Calculate Direct Labour hour rate from the following :

Totle No. of workers 100
Working days in a year 300
No. of working hours per day 8
Short and idle time 5%
Factory overhead Rs. 11,400
Gift to workers Rs. 1,000

During the assessment year 2007-08 Mr. X has income
under the head salaries Rs. 1,20,000 and loss under the
head income from house property Rs. 10,000. Mr. X is
not getting any house rent allowance from his employer,
but he has been living in a rented house in Kolkata paying
a rent of Rs. 3,000 p.m. Mr. X informs that neither he nor
his spouse has any residential house in India.

Compute the amount of deduction U/S 80GG.

Distinguish between head of income and source of
income.

Write short note on Recognised Provident Fund.
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Balance Sheet

Liabilities 31-12-06 | 31-12-07| Assets 31-12-06 |31-12-07

Rs. Rs. Rs. Rs.
Capital 1,50,000 | 1,75,000 |Land & Building | 1,00,000 | 1,50,000
Creditors 90,000 | 1,25,000 |Machinery 2,00,000| 1,40,000
Bills Payable 50,000 | 40,000 | Debtors 70,000 80,000
Bank Overdraft 1,60,000 |1,00,000 |Cash 20,000 25,000
Stock 60,000| 45,000
4,50,000 | 4,40,000 4,50,000| 4,40,000

ST OAPTR ¢

(i) Net Profit for the year 2007 amounted to Rs. 60,000.

(i) During the year, a machinery costing Rs. 25,000 (accu-

mulated depreciation Rs. 10,000) was sold for Rs. 13,000.
The provision for depreciation against machinery as
on 31-12-2006 was Rs. 50,000 and 31-12-2007 was

Rs. 35,000. 30
e — 9

- foais aAg Teg e ¢ $IXO=OY

¢ | AT 2o FIF 9061 2 32T STl ia] SCeTve e |
8+t

Y| AT GG RRBIF Fo—INCEAo 26 | SR
9| G [ FarFs G Sirergd [ Sk e s
A 2 S5 e | 53



©) ECO-08 ECO-08 @

v | e srefe (2t TR SEre g w9 ¢ et — o

(|) ixp?ct.ed fSaIeI? — 3§,009 units per annum. (I Brafs 2ree Tew ey VX838
(1) Analysis of sefing pnceRg. (per unit) o | (Tolfe FoF Y& ez 2ol ASmwe ey =G fNreii
Raw materials 6 SR P | v
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Profit 2 SR SN AT (= B2 SR ey lRPRere ba’ w7
Selling Price 15 I ATl T3+ | Y
(iii) Additional information : so | w2 2z K9 @ Fom @iz @ ey #iely e T2 |
(a) Raw materials remain in store on an average 1 Y
i :)‘O”th-_ . i 38| A AR FECS B @2 G AR H R 3+8
((c; F:rizizjngoscle are nllzgi |Sn store for 9 months. 3¢ DI (-G ) ¢ ore

_ (F) Siofod (el

(d) Credit allowed to debtors 4 months. (4) T ATEH

(e) Credit allowed by creditors 2 months. (o) spe1e) PTG

() Wages and Overhead are paid twice in a month—
on the 1st and on the 16th.

(9) Production is carried on evenly during the year and
wages and expenses accrue in the some day.

s | [asfefie ©25 (2tF Balance Sheet®s % ¢

Fixed Assets to Network 75 : 1

Current Ratio 5:2

Acid Test Ratio 3:2

Reserve to proprietors fund 20 : 1
Current Liabilities Rs. 2,00,000

Fixed Assets Rs. 6,00,000

Cash and Bank Balance Rs. 30,000 5%

P.T.O.



